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—r VO DER— —J4—ILFDER—
1 HE3000m GR) (148 9:30 31 <ESE>
2 —EB3000m GR) (8 9:30 %1 1 INE& (GR) (18A) 10:00
3 INB6FESOMmH  (R)  (1#8) 9:50 2 % GR)  (OA) 11:30
4 INESESOmMH  (GR)  (1#8) 955 %2 | 3 HhE GR) (BA) 1230
5 INZB6HESOMH  (GR) (148 955 %2 | 4 —BB GR) (A) 1230
6 HE110mH GR) (148 10:10 5 —%& GR) (A) 1230
7 % 100mH GR) (%8 10:15
8 /INEB5HF800m  (GR) (1#) 10:25 %3 <HEZH>
9 /INE6E800mM GR) (1#) 1025 %3| 1 & GR) (BA) 11.00
10 /M&Z54£800m GR) (1#8) 1030%4| 2 d%k GR) (4AN) 1100
11 /NZB64HE800m GR) (1#8)  10:30 X4
12 158800m GR) (248 1035
13 —B800m GR) (148 1045
14 F1£800m GR) (4%#8) 1050 < EFHk >
15 INBIFELIT50m (GR)  (3#) 11:10 1 /NBeE GR) (6A) 9:30
16 /INE3ELLTF50m (GR) (2#8) 11:20 2 INEZ6E (R)  (15A)  9:30
17 INBAFES0m GR) (f8) 1125 3 INBIELT GR)  (8BA) 1230
18 INEKA4HFES50m GR) (%) 1135 4 INEZIELLT GR) (BA) 1230
19 /INB5HE100m  (GR)  (2f8) 11:40 5 INB4E (GR)  (8BA) 1230
20 /PEZ5FE100m GR) (3% 1145 6 /INE&AFE GR) (10OA) 12:30
21 INBB6HF100m GR) (448 1155 7 INESE R  (BA) 1230
22 INEZBHET100m GR) (448 12:05 8 INEZHE GR)  (OA) 12:30
23 —B100m GR) (34 12:15 9 % GR) (16.A) 14:00
24 F58100m GR) (11%#8) 12:25 10 88 GR) (22.A) 14:.00
25 1Z£100m GR) (6%H) 1250 %5| 11 —B (GR) (BA) 1400
26 —%&100m GR) (148)  12:50 %5
27 HHE8400m GR) (34E) 13:05 %6
28 —HE400m GR) (148  13:05 X6 <fahix>
29 % 200m GR) (248 13:20 1 8 GR) (@A) 930
30 FE1500m GR) (#) 1330%7| 2 d% GR) (OA) 11:00
31 —8B1500m GR) (#8) 1330%7| 3 —HB GR) (BA) 12:30
32 B%&1500m GR) (1#H)  13:45 X8
33 —%&1500m GR) (14H)  13:45 %8
34 /pE4x100mR (GR) (4#8) 1355
35 diZr4 x 100mR GR) (48 1410
36 B4 x100mR GR) (3% 1445
37 —E4x100mR GR) (148 1425

R IVIDER K1~X8D1HIFRIFFRAZ—k,



